APPE€S LO

STLIDY CENTIRE

TEST - 9TH CIVICS (UNIT 1, 2, 4 GEOGRAPHY (UNIT 5, 6, 8)

| | Page

(BASED ON SCHOOL BOOK)

Consider the following statements

1. Indian council act 1892 introduced the concept of indirect election for
the first time.

2. Direct elections was held for first time in 1920 under British India as per
Montague Chelmsford Reforms Act.

Correct statement is

a. One only b. two only

c. Both one and two d. None of the above

LNeiTeU(HLD SnBmIBenen DLUIH

1. (pHei (PpHeled LeMB(LPSSH CHTHe0 (pewpwimeng 1892 @bHul HeyeiFleodei
FULID cpeold HIPI(pSILBSSUUL LS.

2. Uflyes @nhgdlwmalsd wwrewiCL@ 6FwedCuTT®h FTH(HeHSme6T FLLID CLPpevLD
1920-60 (WHeil (WHeorsd Cryyg BCHTEHe0H6T HenL GILmmeT.

a.1 @B b.2 G c.1 wmpb 2 d. gasiesvenev
Consider the following Statements and choose correct option

I. In India, Prime Minister is Head of State.

II. Government refers to executive functions of state.

a. I only is true b. IT only is true

c. Both I and II are true d. None is correct

LNeitau(pld nmmiseiled Fllwneamensdsd CHTHOHG.
L. BhHuwreled, LMHWCr SIS SHEDEVAITTEUTT

[I. Spsmsd aaLE DIFler CFUIL HNBLUI LenIHmeT 2 6Tem SHUISTGHLD
a.l ' @G &f b.II w' @Gw &
c. I wmmpp 1T & d. egie)fevensv

Consider the following statements.

1. VVPAT was made indispensable by Supreme Court Judgement in
Subramanya Swamy vs Election Commission of India case.

2. VVPAT was introduced all over country in sixteenth Lok Sabha
elections (2014)

Correct statements are

a. One only b. Two only

c. Both One and Two d. None of the above

LNeTaU(HLD SnBBISENeNS H(HHIH:
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1. aldyweniw  seumd T @b CxTmHed pemewiwl eaupsdled VVPAT
SOGH  HAlTHS  (PYUTH  DIDFOTS 2 _FFHHaB  HTled o mig
QauiwItiuL (HeiTen ).

2. 16 ougl Indbsemald BpiThevmer (2014) 0 VVPAT geng @bswm

(POMEGD DIPI(PSLILGSHSUILL LS.
gflwmen SnMBBIH6T6M60T

a.1 (B b.2 L @B
c.1 wBmpb 2 1wl G d. GBIl agia|ble0emev

4. Consider the following statements.
1. Election commission can register and deregister a political party.
2. Party recognised as a state party in four states is recognised as a
national Party.
Correct statements are
a. One only b. Two only

c. Both One and Two d. None of the above

LNITQU(HLD FnBBIHENeTS  H(HHIH.

1. @ SpFwed sLdwmaig GCHTHO PmeIWLSHHTO LH| () HHSD
GaFuIwILL 60mLD.

2. 4 wiplevmiseriled OTHleVdH SLFUITS DMSHTID OLBBIETEN @ S FUITed)
Cxrdflwsd s Fwnes HmSHTSSILGLD

a. 1w’ @ b. 2 1" (Bib C. Byewi(bLd d. galayfeoeamev

5. Consider following statement
Assertion (A): Leader of opposition plays a significant role to play in
Indian Parliamentary System.
Reason (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.
a. (A) alone is correct and (R) is incorrect.
b. (A) and (R) are correct and (R) is correct explanation of (A).
c. (A) and (R) are in correct
d. (A) and (R) are correct but (R) is not correct explanation.
LNITQU(HLD FBBIHENeTS  H(HHIH:
&Bm (A) : @bHwl  umgrEpsB  (pepuled  aHTESLF  Hemeveu
USNWITEISH (WSHBHWLILGIEG IS SHIBS).
s1yeoid (R): @euT QUTHIS Heidb@GHsd GHUDONT HMELATTHAD DSHHUI eI
SLEMEUTULILD  OBMILD  HHU  HBEUD  LEDEIILISH  HevevalTHmend CaHiTey
QaFuILeIITHe|D 2 6ITerTiT.
a. (A) wiew &M, (R) seaum
b. (A) wBp (R) sf wopid (R) eewugs (A) er sflwmer elendsom@d
c. (A) wppd> (R) soum)
d. (A) wppd (R) s suemed (R) ereiiugy gflwmer allendasiosen
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Choose correct statements
I. First general elections to Loksabha was held between 1950 and 1951.
II. ~ 26% January is celebrated as Both voters day and Republic day in

country.
III. India holds indirect elections also.
a. I and II are correct b. II and III are correct
c. IT only d. IIT only

gllwren sBoiIsenen CaiTey OFUlIs.

L. 1950 oBmidb 1951 &E BLuled WEEHMmaIDHE (PHeUTaIH OLITHIS
BaTHe0&H6T HewL OILIMBmenT.

II. BT I9ed Metaufl 26 SIE GHQuTd HeTd DBBID AUTHBTENT  HIOTHS

OamewIL T LGS BS).
.  @bAHur wespss CHTHGBMETUID L HHIBMBS!.
a.l wppid II sflwmereney b. II w@pid I sfwmrerensu
c. I w @b d. III w @w

Which of the following are characteristics of Indian democracy?
I. Universal Adult Franchise.

II.  People Exercise Decision making power directly.

III.  Absence of Discrimination on certain grounds.

IV. Independence of Judiciary

a. I only b. I, III, IV only

c. Il and IIT only d. All the above
LTedTau(hHeueToUBmIOT @bHSHUl MebTWLSSHH 6 DIDFRIGH6T 616n6u?
I suigy aubBHT aumdh@Hflemin

II. wésem GHIQUITE (PIYLCMIBHGID DHBTTHHED 2 _6iT6NeolT
III. v @I L aleustymiseaied UTGUTIQEETMD HleVa M.
IV. pgldgiempule &sbsIyn

a.l ' @w b. LIII, IV wl G

c. IT wmmip III wr G d. smearsHsId

Consider the following statements and choose correct ones.

L Democracy is derived from Greek words DEMOS meaning people
and CRATIA meaning power.

II.  Democracy means head of state is elected.

III. Republic was coined in Rome, From Latin word ‘res publica’
meaning public matter.

IV. Republic denotes doctrine of popular sovereignty where people
posses decision making power.

a. I and II only b. Il and IV only

c. I and III only d. IIl and IV only
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Neitau(pld gammideriled Fflwnerensdd CHTHoHMH:

L. DEMOS - wéaser woppid CRATIA — oi@smyb erer  QUIT(HEHemL U
&BysHa® QUMTHemSHH 61 60(HHS) D&M &) eTEDILD CFTeLELTEIIHI
CaTHOSHHHBLILL L G|

II. waésammfuled odler HemevaugmeareuT CaHThHOSHBHBHUILBGSBTT.

[II. @uurs eamib GaTevevmergk GImb BT QL algalmSHILI L. "Res
Publica" etgnib evdhgeir QomfF QFmevedest GUIT(HeTTaIEH GLUTEHI eleudTyiD
61G0TLISTGHLD.

IV. ouurs eaaiugl wwéHseflld o wWysHasmypeTen SenlILT@GD &kiE LDHEH6N
WWYOBEGID DHBTTHH M6 OFUIOLIHSH SIS HIMBEOIT.

a.l wpm II w' @b b. Il wpmid IV 1ol Bid

cl wBpd I w Hb d. I wBmip IV wl Go

Consider the following statements

Assertion (A): India has indirect democracy.

Reason (R): People exercise decision making power indirectly through

elected representatives.

a. (A) alone is correct (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct and (R) is not correct explanation of (A)

LNeiTeU(HLD SnBBIHEN6NS H(HDHIS.

F&BB (A) : @bFHWTaled MBS WHHNT.d Hlevea s Bl

asryewild (R):  w&H&6T HES6T DFHBMTHMS LOMOBUPHOTE  BHTHOHBHSHSLILIL L
Uy FHBSlae cpsuld OFuwIeOLIBHSH SIS STB60TT.

a. (A) wiew &M, R) seupl

b. (A) wspd (R) &M@, (R) eeiug (A)er gflwmer alendsom@Ld

c. (A) wppd (R) e

d. (A) wspd (R) &f wspd (R) eswg (A sfwmer alemdasos0s0

The parliament house in India was designed by

a. Le Corbusier and Albert Mayer

b. Edwin Lutyens and Herbert Baker

c. Matthew Nowicki and Thomas Munro

d. Ludwig Mies and Frank Wright.

@hHW UTTTEHLOGTHE DIENEUWITETH WTJTT60 6UIQ6UenLDESLILIL L S|
a. &5 &muedwim oBpid ueoLlyl GuouwlT

b. e aler e lguiesierd OBEID QamTum’ GubasT

c. wrswe Gohrald LoB@ID HTwed weTGpm

d. e els erd wBmIDd LgmHis ey
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Consider the following statements and choose correct options.

L Members of Loksabha are indirectly elected.

II.  Members of Rajyasabha are elected by Electoral College consisting
elected members of legislative assemblies of states.

a. I only is correct b. IT only

c. BothTand II d. None of the above

LNeitau(pld Smmmideriled Fllwnearensdd CHTHOHMG:

1. 1&HeNened 2 BILILNITH6T LDemB(PHIOTSS CHTHOHHHHLI LIBE6ITM60TT.

2. wMHev  FLLIAIBEIGST  CaHTHosbBsasiu’ L o mnieimse S msul
GxpiTeyd @GOMD cpeold JTRWl Fenll o mIlNenTEeT BaHiThH0ldH B S ILIBEIIM60TT.

a.lw @G &M b. IT o B

c. Loppd II @yewi®Bid d. ergiadedensv

Kudavolai system was followed by

a. Cheras b. Cholas c. Pandyas d. Pallavas
&L Gaumemnev  (LpeBWITEIS] 60 LaummLiLl L gl
a. Gayiiapeit b. Gazmpieseir C. UITeuNQUITE6IT d. wedevEUTHGIT

In democracy final authority rests with

a. Parliament b. People

c. Council of ministers d. President
&HHeNT.Fulled BmIFH DIHSTTLOTEIH BL b 2 eieng)
a. UMJT@eThLOGIIMBLD b. e

C. DIMDFFTHEMGT DjeHel d. memalug)

Consider the following

Assertion (A) : India has Parliamentary form of democracy.

Reason (R) : Indian Parliament comprise two houses.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A)istrue (R) is false

d. (A) is false and (R) is true

LTeiTau(HaleTaBensB  HLUIH

BB (A) : @hFHwmaled LTITEHLOGIE LHHMTL S (LEDBUTEIHI [HleveSBS.
aryewid (R): @bgHul LMITEpHOETBLIOTRIS B[H DiDaIHM6nd OBTem(HeTeTS.
a. (A) wppidb (R) s Goweid (R) eteiig (A) —ei1 allensbasLon@Ld

b. (A) wspd (R) sflwrereney Gosud (R) eteiiugl (A)eir allendasosvs0
c. (A)sfl R) saum
d. (A) seum wspw (R) sfwmerg
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Consider the following statements.

1. Meaning of Franchise denotes right to elect.

2. Universal adult franchise creates legal equality.
Choose wrong statements.

a. One only b. Two only

c. Both One and Two d. None of the above
LNITU(HLD SnBBIHENENTS H(HHIH.

1. aurd@flemin eraiugl CHitey GaFuiwLGDd o Mevwamuld GHBlSHBE.
2. auwgl aupbGaTT aumh@Gfend FL L FSHBHUSHMS 2 (HoUTHESSH B
SHUBTR FmBuIBHmeNsd BCHTs.

a. 1 w @G b. 2 w' Bw

c. 1 oBpd 2 Byewi(h d. egie|fevensen

The President of India can nominate.

1. Two Anglo Indian to Lok Sabha.

2. Twelve Anglo Indians to Lok Sabha.

3. Twelve Anglo Indians to Rajyasabha.

4. Twelve members to Rajyasabha.

Choose correct statements.

a. One only b. Three and Four only
c. One and Two only d. One and Four only
AbhHw MemHugHuimed BublssiubGeagl

1. &HenenaldhE 2 RISCOT EHSIUITHEN

2. 1D&HeNeMUSE 12 HmISIGCT @b UITH6N

3. gTRQw Feus@G 12 mSGeor BhaHWwiTHern

4. TRW FLHG 12 2 mIelTasel

a.1l w’ @ b.3 w@Bmid 4 w’ Hid
c.1 wBmib 2 wL Bd d.1 wBmib 4 wl GD

is one of five basic principles of democracy in India.

a. Communism b. Communalism

c. Secularism d. llliteracy

OhHU QETBTLSHHET 5 DYliLmL & CBTeTendH6MNe0 el
a. QuUTHIea ML LD b. au@liyeuTsId

C. W FFTieTento d. epsHsnieileento

Electoral college of President consists of

L. elected members of both houses of Parliament

II.  elected members of state legislative assemblies and union territories.

III. nominated members of both houses of Parliament.

IV. Nominated members of state legislative assemblies and union
territories.

a.l and III only b.landIIonly c.III, Illonly d.All the above
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GLWISS Hmevauandh BTey OFUILD eUTEHSTENT G (LeUTEIS

L. uTgTEboaB &M Siemeuuler Caitey OFuwwiu’ L o minierrasel
II. e &lLwemd () welwer LCshgmselear GCxitey Gauwl L
o mIIenTHel

III.  ummenwsas &mm Semeluile muiwer o mililerTaer

IV. wmpev gl Lwaimd (1) ujefwer LgCahsmiseie muloer o mililerss
a. lwpmpwp III wrGo b, Twngid 1T G

c. I II, III o (Bb d. smersHHib

Consider the following statements

Assertion (A) : Pressure groups originated in USA and are different from

Political Parties.

Reason (R) : They do not try to capture political power or contest election.

a. Both (A) and (R) are true and R is correct explanation

b. Both (A) and (R) are true and R is not correct explanation

c. Aistrue, Ris false.

d. A is false, R is true.

LNITU(HLD FnBBIHENeTS  H(HHIH.

aBE  (A): opfwed sl dsalleldBhd DSHHS GUWSH6T (S6WidbsTaled
Gxpmesiuwieney) GeumiLI(BH a6t

snyenid (R): oimeusel opdlued oiHsmsmss malLBBCur (o) BxTxHedlsd

Gumigui_Geum  (LpemeaT6r&H606M6v.

a. (A) wppd (R) sf Gued (R) eteiiugy aflwimer eflendbaomngLd

b. (A) wBpid (R) &fl Guwed (R) ereiiuigy Fflwmer aiendasiosdsn

c. (A s R) saupreng

d. (A) seum, (R) sflwmerg)

Election Commission is a

I. Independent Body II. Permanent Body

I1I. Statutory Body IV. Constitutional Body

Choose correct statement

a.lonly b.ITandonly c.I Il and IIl only d.I, I and IV only

BHTHEL HLEMETULIDTETSHI (T

[. &agba] SiEmOLUTEGLD II. Weweowimenr SieMLOLILITEGHLD

III. s’ Lyfeu gemwriungd V. opduiecuemioliler Liguimer SeniolilmgL
a. Lo’ (B b. 1 wpmid I o Hbd

c. [, Hwommd III w @b d. L II wpmw IV w @G

Which is not function of political party?
a. Parties conduct election.

b. Parties put forward policies

c. Parties contest election

d. Parties shape public opinion
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SIFwed s Fulledr LiewluweLeoTHSH 61517

a. &L d®61 BaTHemev BL GRS GIBE.

b. & fse1 CBTETMBHENGT (LPEITEN6LH ) GHTN360T.

C. sl dlme1 Bxitgpeded GumlipuilBalaimer.

d. sl a6t QUTHIS HHBHIHME AUIQEUMLDE ) GHTN36T.

State parties are also known as

a. Indian parties b. Provincial Parties
c. Regional Parties d. National Parties
LOTHI6VS &L F el eTeimID  SIMIWIILBESeT360T.
a. @phHw s Hser b. wrsmem &L o6l
c. gmhAwr &L debelt d. Gafw &I Hser

What are merits of direct elections.

a. Itis less expensive

b. It is more suited to larger countries.

c. It ensures lower violence and corruption.

d. It makes representative more accountable to people.

Cprgs CaTaHevseer FMLILG6T Wimeneu?

Bmal GMBHH CFeV6 ML LI

WsLOufw BTHHEHHE LWSOID 6JiLEmL U6l

GMBHD DIETATGOTET GUGIT(LPNMBHET LOBBILD D6MLPEOSH6IT

. IDBBHEHHE DHS CUTBIIUDL D  uTuihsh LIFHBH BT  6)LDMmIG,H 651360
(9 W&aEHEG Waa b ghwmer Slenaleomer LIFHHalsamen aupmiE s amser.

an o

Which of the following is not one of three components of political party?
a. Leader b. Active Member

c. Follower d. Electoral Funding

Leitau(heoteuBmIeT yFluied S Fullet 3 FmmISHEHeT Q&M DIeL6VTHH 61517

a. HEMELAIT b. Gswed 2 _minie

C. QFHmeuTLT d. Gximed HFH euenBMID

Match the following committee and recommendation

A. Balwant Rai Mehta (1957) 1. 3 tier Panchayat Raj

B. Ashok Mehta (1977) 2. Concept of “grass without roots’

C. GVK Rao (1985) 3. 73rd and 74% Constitutional
Amendment Act

D. LM Singhvi (1986) 4.2 tier Panchayat and involvement of
political Parties

an oo
el
> W N o
W NN WA
N W R
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QUTHSHHISH:
A. usdeubggmul Guwg st (1957) 1. 3 9IbdE& UEhFTWHSH JTel

B. ©Bsms GuwgHar (1977) 2. "Courmm UBseT” (Lpens

C. GVK gmeu (1985) 3. 73 oBmib  T4euzl  SiyFuleveniolilg
HHHHF FLLBIS6I

D. eev.enb. friel (1986) 4. 2 9bsG UehITWSSH (ID) SFFuied

&l Fapeer URIGHMBL

A B C D
a. 1 2 3 4
b. 1 3 2 4
C. 1 4 2 3
d 1 4 3 2

Consider the following statements.

I. Lord Ripon is considered as father of local self government in country.

II. Panchayat Raj system was introduced in Nagaur district of Rajasthan on
October 2, 1959

Choose correct statements.

a. I only b.Ionly c.BothIand II d. None of above
Ueteupld smBpisemend &(hHSHIs.

[. e o eitenm & Sewwliseien Hhewswins Mliuer Ly SmHSLILIGSMBTT.
II. osCLmuT 2, 1959-60 JUeQerOHTeN6N BHIGLLT LOTaI L HEH6L LEhFTUISHSH Tl

(LOBWTRIH] DIBILPSLILL HSHUILIL LS.
gilwmer FmBoIBemensd BxiTey OFUIS

a.l o’ B b.II w' @b c. I wpyd I Syewiend d. ergiedlevenev

Only local government that can levy taxer under 3 tier panchayat.

a. village panchayat b. zila parishad

c. panchayat samiti d. Anchal samiti

APIIBHHEG UEhFTWSHS  (edmulled  &HIp GG  eaufl  alFH&HEGWD
DFHBMTHMSL GUBDICTENSI.

a. dgmp  eenym & b. 2feveor ufa9s

C. UhaTwdHa FO) d. sehged F1OH

Which of the following is not a tax levied and collected by village

panchayat?
a. property tax b. professional tax
c. house tax d. stamp duty

LeiTau(HaueTaUBmIOT &SIFTD  2ayrl Fuimed al&HeSULULTS OBBID  UGISSLILLTSH
aufl e1gH?

a. QFmsHal eufl b. Qzmifed eurfl

c. ail® eurfl d. wsHHewyshsmen e
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Which of the following is not type of urban local body?

a. Town panchayat b. zila parishad

c. municipality d. corporation

LeiTau(hHeoTeuBmIeT HBT 2 6Tl & emolIleT 6UmEBUIOOTHSH 61517
a. BbBJ LehFTUIHSI b. 2feveor uUfags

C. &S d. wmpsym

Which of following is not a characteristic feature of parliamentary form of
government?

a. Harmony Between Legislature and Executive

b. Responsible Government

c. Stable Government

d. Majority Party Rule

LTedT6u(HeUGTOUMBMIGT LITTTEHLOGIB (LPeDB DITFTRISSHH G DIDFLOOOTHSHI 6157
a. FLLGHSHIMB LOBHID QFWeTHEdH Hiewm el Guiwimer E)emTdoH enev

b. QuTmIILITET S FTRIGLD

C. [Hlem6VWITEN SIJFTRISBLD

d. Qupbureend @I Hufler oyt &

Choose the incorrect pair

1. Primary Consumers - Zebra

2. Secondary consumers - crocodile

3. Tertiary consumers - owl

4. Autotrophs - Bacteria

a.1,2 b.3,4 c. 2 only d. 4 only

SHAUBTET E)eN6ITenUISH EbITCIIH

1. WpaHeopmleney HISTCTT - eufld@ ey
2. @yewiLmbblensy HISTCTT - (LFHewev
3. cpeIBTDBHleney HISTCTT - SUHeNS
4. gmaniy o' o ulfl — urdedwm

a.1,2 b.3,4 C.2 WL @B d. 4 w’ @G

An ecological region that has lost more than of its original habitat
is considered a

a. 70%, hotspot b. 70%, Biosphere reserve

c. 60%, hotspot d. 60%, Biosphere reserve

R Gweallwed LIp6sasH e Gueurd @MeID SHWILDTET  UTLDAIL HeNd

BbsIGGLWTEmed el d (Heauaidhdled GsmeiTeniiLL Geuemrigul)
A5 BHSUIIBSBSI.

a. 70%, euenemowmisenmas (Hotspot) b.70%, o ultéGsmen sTlisD
c. 60%, euenemwwmisents (Hotspot) d. 60%, o ufiteBsmen &miLssLD
Tropical Savanna biomes are found between latitudes.

APPOLO STUDY CENTRE PH: D44-24333436, 428675353, 9840226187
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a.10° to 20° Eand W b.10° to 20° N and S

c.20°to30° N and S d. 20° to 30° E and W

Geaulil 1660 Feumedrm LieoeIUliTd OHTGa) I FRIBEHHEF enLGul
STILILBS BSI.

a. 10° to 20° Sws@ wnmid GomE b, 10° to 20° euL wBmd C\gHest

c. 20° to 30° auL BmID GC&est d. 20° to 30° Hwsa wHBmId GCoBE

Which of the following statements is /are correct about desert biomes?

1. Found on the western margins of the continents between 20° and 30° N
and S latitudes.

2. The annual rainfall is less than 50 cm in these regions.

3. These regions do not possess any vegetation but have special vegetation
type called Xerophytes.

a.1,2 b.1,3 c. 2 only d. All of these

LTenevauedl Lisbeuuiitd QFHT@&Hd uBpsw gflwmer gBml / FmBoiseer SRl pfs

1. @IueoauilTsEeaETEGsH  20°  wadHev  30° e, OCFHeT I FhisHEHDHSemL GCul
STEOILILI(H S5 63TM360T.

2. OmIE LB FYma wenptioumfley 50  OF.ISHGD  GmBTH
ST LGS BSI.

3. @RGH STauTmder fsTe eueniTsleaper. S@omULIID BRGdS STeniliupBLD
SHONSHFHIOUD UTUIHSH STEUTHISET LITEN606U6NSHHTeUTMBIS6T 616 LB SIB6IT.

a. 1, 2 b. 1, 3 C. 2 (B d. @meal SEDBIHHID

Match the following

A. Prairies 1. Eurasia

B. Steppes 2. South Africa

C. Pampas 3. New Zealand

D. Veld 4. North America

E. Centerburg 5. Argentina and Uruguay
A B C D E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2

d 4 1 5 2 3

QUTHSHHIB

A. Ggu 1. wGyeaduwim

B. 0@ 2. Opevrermiiifdsm

C. umbumerd 3. Bufeonbgl

D. Qeusdl 4. o OGS

E. Gseiriuimd 5. SITOmewngeIm OBBID 2 (hH&HG6
A B C D E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2
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37.

38.
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Consider the following

Assertion (A): Heterotrophs do not produce their own food.

Reason (R): They depend on autotrophs for their nourishment

a. Both assertion (A) and reason(R) are true; R explains A

b. Both assertion(A) and reason(R) are true; R does not explain A

c. Aistrue; R is false

d. Both A and R are false

LTeTau(HeaueTaUBensB LIS

gaBm (A): Upgeniy e’ o ulfisel shiser o euemel HTESCT HWIThSHHis
Ol TeITeNTg|

snyend (R): e’ | Fgs5dBaT16 Beder 2 BUSHWTNTSMETSF FTTHHI EHHEGLD

a. MWl WBPID STJenid @TewiBld &M, HMFewd Fnmens alensEGHH B
b. saBm wB@Id @TyewID FewiBd Fil, HTFERID FmBens elendBale0emev
C. m@mml g, SMJewid Heuml
d. &Bm BB STyeEIDd EJewiGL SHalm)
Match the following
A. World Wild Life Day 1. March 3
B. International Day of Forest 2. March 21
C. World Water Day 3. March 22
D. Earth Day 4. April 22
E. World Environment Day 5. June 5
A B C D E
a. 1 3 4 5 2
b. 1 2 3 4 5
C. 5 4 3 2 1
d 4 3 2 1 5
QUTHSHHIB
A. 2 s alaiailevmig HeIbd 1. g 3
B. siteuCGss a&m(haen Hebd 2. & 21
C. 2 s BT Hembd 3. womrF 22
D. gy e 4. gliye0 22
E. 2 o0 sBmiF@pe sHerd 5. et 5
A B C D E
a 1 3 4 5 2
b 1 2 3 4 5
C 5 4 3 2 1
d 4 3 2 1 5

is a system of interlocking and inderdependent food chains.
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40.

41.

42.

43.

13 | Page

a. Food chain b. Food web

c. Trophic level d. Ecosystem

® auie)F FRBHIH6T AIBeeTOWTey  Fibhgl, Lemeuibslul L SIenLDLIL|
s IL(BH MBS

a. 2_6uie) FhiHe) b. o _ewia] euemev

C. QBM6L DL LD d. FBBIFEGLe0 SenoliL]

United Nations Conference on Environment and Development (UNCED)
was held in in 1992.

a. Rio de Janeiro b. Paris c. Geneva d. Stockholm
MmeHH U BTBHMNET SFMBIFGGH60 OBBID aleTEFES  OTHTH 860 19928110
601 [HewL GLUBBGI.

a. MBwr 19 GMelGyr b, umferd ¢. Gegesieur d. eLrsGammid

Choose the correct statements

1. Different countries of the world conduct census every 5 to 10 years as
recommended by the United Nations.

2. The first known census was undertaken by the Babylonians in 3800 BC
(BCE).

3. In India, the first census was carried out in the year 1872.

a.1,2,3 b.2,3 &l 4 d. None of these

gflwrenr FBuiIsenet Bz

1. ma&aw pIGseT gouuwler ufibgiewgulely o eodler LGB  BTHSH6NT
@aloeuTh S5 9evevdl 10 mIbBEHSHE  Q@UH(PMMB  LDHHTO0HTNS
HenTbOBBLIML  GLoB6BT6Ta63ImeuT.

2. umiGeumefled &l.ap (OUT.&L.1Pp) 380060 2 60HW (IPH60  LDSHHETOHTNSH

SMILI0SBLIL BLbHSHIBI.
3. @bHwmeled (PFHeL LEFHMOHTND HewlddBLry H.1.18728LD  Lewi®h

BLbHSHS.
a.1,2,3 b.2,3 c.1,4 d. @meu ggIdevensy

Which was the first country in the modern world to conduct a census?

a. Sweden b. France c. Denmarkd. Austria

Boial © 60Hl6D LDEHETOHTND HeTHOBHBHLIML  (LPHE0  (PHeVled BLSHFHW  BTH
61&l?

a. el e b. Wgmeserd C. QLevtiomitéh d. gyeror fuwim

The dominant explanation for black death is attributed to the outbreak of

a. Poli b. Chickenpox c. Malaria d. Plague
Neitau(pd 61bd GHmul smIIg 76| DIePSBLILGBSBEHI?
a. GumedGuir b. s L1bewio C. wBeurfluim d. G

Choose the correct statement
1. The World Population Day is observed on 11th July every year.
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44.

45.

46.

47.
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2. The United Nations Development Programme started celebrating this
event from the year 1991.
a. 1 only b. 2 only c. both1and 2 d. None of these

gllwmenr s@Bens HewiL MBS

l. 2 608 W&HFHTOHTMH  Hleolld W BCHTHID  2rewev  1lgyd  Cad)
SIaIFNESILBH MBS

2. &S BThseNer auenTFd SHLL oy Beng 1991ob e (LPSHeD
CBTERILMY  UHI MG

a. 1 wl @ b. 2 @G C. 1 wimb 2 @yewGhd  d. @eneu

e HILO606M60

Density of population refers to

a. Population Density = Total Population / Total land area

b. Population Density = Total land area / Total Population

c. Population Density = Total population x Total land area

d. Population Density = Total land area x Total population
0SB DILTHS 6Tl

a. BT SILTHH = CTHH 1HH6TEHTmE [/ GComdHd BevlIIFLiL
b. wésen I THE = Qwrshd Heolugln) / GCTEHS 1DEHHTOHTND
C. W&FH6T IILTHH = OTHS WHHTEGHTNS X OLOTHS Hlevl gl
d. wéset I THH QrdHe Beolgliy X OLTHG WEHHTOHTEND

India has an official population policy implemented in

a. 1951 b. 1952 c. 1953 d. 1954

Bbhaul oY) =30 S| FHBMTTLILLTEULDT 60T LD BHETOSHTEND O®TeiTensd
BEOL (LPemBLUBSSLILIL L. S601(H

a. 1951 b. 1952 c. 1953 d. 1954

Find out the incorrect pair

1. Primary activities - mining
2. Secondary activities - automobile manufacturing
3. Tertiary activities - banking
4. Quaternary activities - scientists and policy makers
5. Quinary activities - consultation
a.1,2,5 b.4,5c.3,5 d.1,3
SHAUBTET E)eN6IIenUIch SHIT6IIH
1. (pFHeLPpmevd GCHTLHEOSH6T - SNmIGmeT Gaullg 61(HHFH60
2. @yewiLmbbhlensvd OHTHe0BH6NT - UTHRT 2 _MUSHFH CFHTIHBFTENEVSH6N
3. PAIBTOHeNeVS OHTLHEOSH6IT - QUMIFBH6IT
4. BTSISHTIDHeN6VSH OHTH60H6NT - Sslaluied SIS GHTH6IT LOBmILD
SDITFMTHISH G601
OBTeTenEHH6M60 (LPI96)] GTIBHLILIGITHEIT
5. MbBBHTDOHMEVSH CHTIHE0H6N - BeuTFMET  AULDHIEGHFH6D
a.1,2,5 b.4,5c.3,5 d.1,3

Choose the correct statements
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1. Japan is in a very active seismic area and it has the densest seismic
network in the world.

2. Indonesia is in a very active seismic zone

a. 1 only b. 2 only c. both1and 2 d. none of these

gflwren FnBoIBHemeT HewilMBlH

1. gUumedm  (Weu D Hevbhdd UGHHuUled SidwhHeTens. @a o 6aGeolul
e SIFHS SILTHIHWLTT HlevbbhHs LIGHHmend 6ETemlbheTengl.

2. @HCHTCaAWT 9IHH HevHBESL LIGHHenensd BT (HeiTeng

a. 1 @ b. 2 w G c. 1 wBp 2 d. @mear ggihedeney

48. Which of the following statement has the Risk Reduction measures for
cyclone?
L. Ignore rumors, stay calm don’t be panic.
II. Keep your documents and valuables in water proof containers.
III.  Prepare an emergency kit’s with essential items for survival
IV.  Switch on all the electrical appliance
a. I, I and III are correct b. I and II are correct c.III and IV are correct

d. IV only correct e. Answer not known

CaThedsUULBeiten 6hd eurddwid yuweder GCurg weump GCeuewiigul SjLITUl

Gaxitey GHemBLIL [HL 6VIQEEMSHH6N

. GaewauwBs auFHHHBmTUID, LSBBHMSUID SHaNTHH60 DIHLOHBTHHALD

II. psHuioTer  SLEIETRIGEEMUID WBBID 2 | HIDSEMETUID  HewIemwiT LSBT
OULLBSHHD LSIHTIONS MeUSSAILD

III. o uiT eump Seusy 2 FHal CULLBHMmSH HUMTHeNeVUTEd M6USHH([HBHBALD

IV. simardal 10egmy Fraemiseilen LOaEementlienUULD Hiewigshs GaleuwiLmib.

a. [, IT wmpud T sflwmerene b. I wnmib I sflwrerene

c. [l ompd IV afluinerene d. IV w @G sflwrearns

e. alenL  OFflwalsoensv

49.  When you happen to see a fire break out, you will make a call to

a. 114 b. 112 c. 115 d. 118
Salusa gBuBLCUTH BHIS6T DIMPSHHEaIeHIQUI 6T6wT
a. 114 b. 112 c. 115 d. 118

50. Choose the correct statements
1. A tsunami is a series of enormous ocean waves caused by earthquakes,
underwater landslides, volcanic eruptions or asteroids.
2. Tsunamis can travel 700-800 km per hour, with waves 20-30 meter high.

a.1only b. 2 only c.both1and 2 d. none of these

gflwrenr FBoiBeneT CaHiTH

1. PleopBHBD, SLAHG Digulled gBUGBL Hevdgey, erMensd Geuglil] LOBMID
GBIRGHTeIHeT CUTEBaBMBTEL gBUBL CHTLT CUBHRISL 60H6T6T DijeneLHGer
SO GUFeneL&H6ENTG)LD.

2. oeillBuremeowimergl  20-30 WOLLT o wigsHFHed Wwewlld@ &&iwmT 700 — 800
SHBeomL LT Cousdhdlev OFeL60HEIQUIG)

a. 1 @ b. 2 w G c. 1 wBp 2 d. @mear gaIhevemev
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TEST - 9TH CIVICS (UNIT 1, 2, 4),

GEOGRAPHY (UNIT 5, 6, 8)

2

3

4

5

6

7/

10

B

A

B

B

D

B

12

13

14

15

16

17

20

B

B

B

C

D

C

22

23

24

25

26

27

30

C

D

D

C

C

A

32

33

34

35

36

37

40

A

B

B

D

A

B

42

43

44

45

46

47

50

D

A

A

B

B

C
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TEST - 9TH CIVICS (UNIT 1, 2, 4),

GEOGRAPHY (UNIT 5, 6, 8)

2

3

4

5

6
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10

B

A

B

B

D

B

12

13

14

15

16

17

20

B

B

B

C

D

C
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23

24

25

26

27

30

C

D

D

C

C

A

32

33

34

35

36

37

40

A

B

B

D

A

B

42

43

44

45

46

47

50

D

A

A

B

B

C
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TEST - 9TH CIVICS (UNIT 1, 2, 4),

GEOGRAPHY (UNIT 5, 6, 8)

2

3
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5

6

7/
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B

A

B

B

D

B

12

13
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B

B

B

C

D

C

22

23

24

25

26

27

30

C

D

D

C

C

A
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33

34

35

36

37

40

A

B

B

D

A

B

42

43

44

45

46

47

50

D

A

A

B

B

C
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TEST - 9TH CIVICS (UNIT 1, 2, 4),

GEOGRAPHY (UNIT 5, 6, 8)
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B
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D

D
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A
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A

B

B

D

A

B
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45
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D

A

A

B

B

C
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